

## COMBINATORIAL IDENTITIES IN DUAL SEQUENCES

ZHI-WEI SUN

Department of Mathematics, Nanjing University  
Nanjing 210093, P. R. China  
*E-mail address:* zwsun@nju.edu.cn

ABSTRACT. In this paper we derive a general combinatorial identity in terms of polynomials with dual sequences of coefficients. Moreover, combinatorial identities involving Bernoulli and Euler polynomials are deduced. Also, various other known identities are obtained as particular cases.

### 1. INTRODUCTION

Let  $\{a_n\}_{n \in \mathbb{N}}$  be a sequence of complex numbers where  $\mathbb{N} = \{0, 1, 2, \dots\}$ . We call the sequence  $\{a_n^*\}_{n \in \mathbb{N}}$  given by

$$a_n^* = \sum_{i=0}^n \binom{n}{i} (-1)^i a_i \quad (1.1)$$

the *dual sequence* of  $\{a_n\}_{n \in \mathbb{N}}$ . It is well known that  $a_n^{**} = a_n$  for all  $n \in \mathbb{N}$ . (See, e.g. [GKP, pp.192–193].) Those self-dual sequences are of particular interest and were investigated in [S]. The Bernoulli numbers  $B_0, B_1, \dots$  are given by  $B_0 = 1$  and  $\sum_{i=0}^n \binom{n+1}{i} B_i = 0$  ( $n = 1, 2, 3, \dots$ ); since  $B_1 = -1/2$  and  $B_{2k+1} = 0$  for  $k = 1, 2, \dots$  the sequence  $\{(-1)^n B_n\}_{n \in \mathbb{N}}$  is self-dual as observed in [S]. Like the definition of Bernoulli polynomials (see, e.g. [Su]), we introduce

$$A_n(x) = \sum_{i=0}^n \binom{n}{i} (-1)^i a_i x^{n-i} \quad \text{and} \quad A_n^*(x) = \sum_{i=0}^n \binom{n}{i} (-1)^i a_i^* x^{n-i}. \quad (1.2)$$

Obviously  $A_n(0) = (-1)^n a_n$ ,  $A_n(1) = a_n^*$  and

$$A'_{n+1}(x) = \sum_{i=0}^n \binom{n+1}{i} (-1)^i a_i (n+1-i) x^{n-i} = (n+1)A_n(x).$$

In 1995 M. Kaneko [K] found the following new recursion formula for Bernoulli numbers:

$$\sum_{j=0}^k \binom{k+1}{j} (k+j+1) B_{k+j} = 0 \quad \text{for } k = 1, 2, \dots$$

By means of the Volkenborn integral, H. Momiyama [M] got the following symmetric extension: If  $k, l \in \mathbb{N}$  and  $k + l > 0$ , then

$$(-1)^k \sum_{j=0}^k \binom{k+1}{j} (l+j+1) B_{l+j} + (-1)^l \sum_{j=0}^l \binom{l+1}{j} (k+j+1) B_{k+j} = 0.$$

Recently Wu et al. [WSP] proved further that for  $k, l \in \mathbb{N}$  we have

$$\begin{aligned} & (-1)^k \sum_{j=0}^k \binom{k+1}{j} (l+j+1) B_{l+j}(t) + (-1)^l \sum_{j=0}^l \binom{l+1}{j} (k+j+1) B_{k+j}(-t) \\ &= (-1)^k (k+l+2)(k+l+1)t^{k+l}. \end{aligned} \quad (1.3)$$

Motivated by the above work, we obtain the following general theorem.

**Theorem 1.1.** *Let  $k, l \in \mathbb{N}$  and  $x + y + z = 1$ . Then*

$$\begin{aligned} & (-1)^k \sum_{j=0}^k \binom{k}{j} x^{k-j} \frac{A_{l+j+1}(y)}{l+j+1} + (-1)^l \sum_{j=0}^l \binom{l}{j} x^{l-j} \frac{A_{k+j+1}^*(z)}{k+j+1} \\ &= \frac{a_0(-x)^{k+l+1}}{(k+l+1) \binom{k+l}{k}}. \end{aligned} \quad (1.4)$$

Also,

$$(-1)^k \sum_{j=0}^k \binom{k}{j} x^{k-j} A_{l+j}(y) = (-1)^l \sum_{j=0}^l \binom{l}{j} x^{l-j} A_{k+j}^*(z) \quad (1.5)$$

and

$$\begin{aligned} & (-1)^k \sum_{j=0}^k \binom{k+1}{j} x^{k-j+1} (l+j+1) A_{l+j}(y) \\ &+ (-1)^l \sum_{j=0}^l \binom{l+1}{j} x^{l-j+1} (k+j+1) A_{k+j}^*(z) \\ &= (k+l+2) \left( (-1)^{k+1} A_{k+l+1}(y) + (-1)^{l+1} A_{k+l+1}^*(z) \right). \end{aligned} \quad (1.6)$$

*Remark 1.1.* (1.5) in the case  $l = 0$  yields that

$$\sum_{j=0}^k \binom{k}{j} x^{k-j} A_j(y) = (-1)^k A_k^*(1-x-y) = \sum_{j=0}^k \binom{k}{j} 0^{k-j} A_j(x+y) = A_k(x+y).$$

**Corollary 1.1.** *Let  $k$  be a nonnegative integer. If  $a_n^* = a_n$  for all  $n \in \mathbb{N}$ , then*

$$\sum_{j=0}^k \binom{k}{j} (-1)^j (2t-1)^{k-j} \frac{A_{k+j+1}(t)}{k+j+1} = \frac{a_0(2t-1)^{2k+1}}{2(2k+1)\binom{2k}{k}} \quad (1.7)$$

and

$$\sum_{j=0}^k \binom{k+1}{j} (k+j+1)(1-2t)^{k-j+1} A_{k+j}(t) = -2(k+1)A_{2k+1}(t). \quad (1.8)$$

If  $a_n^* = -a_n$  for all  $n \in \mathbb{N}$ , then

$$\sum_{j=0}^k \binom{k}{j} (1-2t)^{k-j} A_{k+j}(t) = 0 \quad (1.9)$$

and in particular

$$\sum_{j=0}^k \binom{k}{j} (-1)^j a_{k+j} = 0.$$

*Proof.* To obtain (1.7)–(1.9), we simply take  $l = k$ ,  $x = 1 - 2t$  and  $y = z = t$  in (1.4)–(1.6). (1.9) in the case  $t = 0$  gives the last identity.  $\square$

*Example 1.1.* Let  $u_0 = 0$ ,  $u_1 = 1$ , and  $u_{s+1} = au_s + bu_{s-1}$  for  $s = 1, 2, \dots$ , where  $a$  and  $b$  are complex numbers with  $a^2 + 4b \neq 0$ . It is well known that  $u_n = (\alpha^n - \beta^n)/(\alpha - \beta)$  for all  $n \in \mathbb{N}$ , where  $\alpha$  and  $\beta$  are the two roots of the equation  $x^2 - ax - b = 0$ . Observe that

$$u_n^* = \sum_{i=0}^n \binom{n}{i} (-1)^i \frac{\alpha^i - \beta^i}{\alpha - \beta} = \frac{(1 - \alpha)^n - (1 - \beta)^n}{\alpha - \beta}$$

(and hence  $u_n^* = -u_n$  if  $a = 1$ ). Also,

$$\begin{aligned} & \sum_{i=0}^n \binom{n}{i} (-1)^i u_i^* (1-a)^{n-i} \\ &= \sum_{i=0}^n \binom{n}{i} \frac{(\alpha-1)^i - (\beta-1)^i}{\alpha-\beta} (1-a)^{n-i} \\ &= \frac{(\alpha-a)^n - (\beta-a)^n}{\alpha-\beta} = (-1)^n \frac{\beta^n - \alpha^n}{\alpha-\beta} = (-1)^{n-1} u_n. \end{aligned}$$

Let  $k, l \in \mathbb{N}$ . Applying (1.4)–(1.6) with  $x = a$ ,  $y = 0$  and  $z = 1 - a$ , we obtain the following identities:

$$\sum_{j=0}^k \binom{k}{j} (-1)^j a^{k-j} \frac{u_{l+j+1}}{l+j+1} = \sum_{j=0}^l \binom{l}{j} (-1)^j a^{l-j} \frac{u_{k+j+1}}{k+j+1}, \quad (1.10)$$

$$\sum_{j=0}^k \binom{k}{j} (-1)^j a^{k-j} u_{l+j} = - \sum_{j=0}^l \binom{l}{j} (-1)^j a^{l-j} u_{k+j}, \quad (1.11)$$

$$\begin{aligned} \sum_{j=0}^k \binom{k+1}{j} (-1)^j a^{k-j+1} (l+j+1) u_{l+j} - \sum_{j=0}^l \binom{l+1}{j} (-1)^j a^{l-j+1} (k+j+1) u_{k+j} \\ = ((-1)^k - (-1)^l) (k+l+2) u_{k+l+1}. \end{aligned}$$

In the case  $l = k$ , (1.11) yields the following recursion formula:

$$\sum_{j=0}^k \binom{k}{j} (-1)^j a^{k-j} u_{k+j} = 0.$$

Theorem 1.1 has the following important application.

**Theorem 1.2.** *Let  $k$  and  $l$  be nonnegative integers.*

(i) *If  $x + y + z = 0$  then*

$$(-1)^k \sum_{j=0}^k \binom{k}{j} x^{k-j} \frac{y^{l+j+1}}{l+j+1} + (-1)^l \sum_{j=0}^l \binom{l}{j} x^{l-j} \frac{z^{k+j+1}}{k+j+1} = \frac{(-x)^{k+l+1}}{(k+l+1) \binom{k+l}{k}}. \quad (1.12)$$

*In particular,*

$$\sum_{j=0}^k \binom{k}{j} \frac{(-1)^j}{2^j (k+j+1)} = \frac{2^k}{(2k+1) \binom{2k}{k}}. \quad (1.13)$$

(ii) *For  $n \in \mathbb{N}$  let  $B_n(x)$  denote the Bernoulli polynomial of degree  $n$ . Suppose that  $x + y + z = 1$ . Then*

$$(-1)^k \sum_{j=0}^k \binom{k}{j} x^{k-j} \frac{B_{l+j+1}(y)}{l+j+1} + (-1)^l \sum_{j=0}^l \binom{l}{j} x^{l-j} \frac{B_{k+j+1}(z)}{k+j+1} = \frac{(-x)^{k+l+1}}{(k+l+1) \binom{k+l}{k}}. \quad (1.14)$$

*Also,*

$$(-1)^k \sum_{j=0}^k \binom{k}{j} x^{k-j} B_{l+j}(y) = (-1)^l \sum_{j=0}^l \binom{l}{j} x^{l-j} B_{k+j}(z) \quad (1.15)$$

and

$$\begin{aligned}
 & (-1)^k \sum_{j=0}^k \binom{k+1}{j} x^{k-j+1} (l+j+1) B_{l+j}(y) \\
 & + (-1)^l \sum_{j=0}^l \binom{l+1}{j} x^{l-j+1} (k+j+1) B_{k+j}(z) \\
 & = (-1)^k (k+l+2) (B_{k+l+1}(x+y) - B_{k+l+1}(y)).
 \end{aligned} \tag{1.16}$$

(iii) The second part remains valid if we replace all the Bernoulli polynomials in (1.14)–(1.16) by corresponding Euler polynomials defined by  $2e^{xz}/(e^z + 1) = \sum_{n=0}^{\infty} E_n(x)z^n/n!$ .

*Proof.* (i) Let  $a_0 = 1$  and  $a_i = 0$  for  $i = 1, 2, 3, \dots$ . For any  $n \in \mathbb{N}$  we clearly have  $a_n^* = 1$ ,  $A_n(t) = t^n$  and  $A_n^*(t) = (t-1)^n$ . If  $x+y+z=0$ , then  $x+y+(1+z)=1$  and  $A_n^*(1+z) = z^n$ , therefore (1.12) follows from (1.4). When  $l=k$ ,  $x=-1$  and  $y=z=1/2$ , (1.12) yields (1.13).

(ii) Let  $a_n = (-1)^n B_n$  for  $n \in \mathbb{N}$ . Then  $A_n^*(x) = A_n(x) = B_n(x)$ . Applying Theorem 1.1 we obtain the identities (1.14)–(1.16). (Note that  $B_n(1-t) = (-1)^n B_n(t)$ .)

(iii) By the definition of the Euler polynomials,  $E_n(1-x) = (-1)^n E_n(x)$  and  $E_n(x+y) = \sum_{i=0}^n \binom{n}{i} E_i(x) y^{n-i}$  for any  $n \in \mathbb{N}$ . Let  $a_n = (-1)^n E_n(0)$  for  $n = 0, 1, 2, \dots$ . Then  $a_n^* = \sum_{i=0}^n \binom{n}{i} E_i(0) = E_n(1) = a_n$  and  $A_n(x) = A_n^*(x) = E_n(x)$ . So we have part (iii) by Theorem 1.1.

The proof of Theorem 1.2 is now complete.  $\square$

*Remark 1.2.* In the case  $x=1$ ,  $y=t$  and  $z=-t$ , (1.16) turns out to be (1.3) since  $B_n(1+t) = B_n(t) + nt^{n-1}$ . (1.15) in the case  $x=1$ , and its analogue with respect to Euler polynomials were recently discovered in [WSP]. When  $l=k$ ,  $x=1-2t$  and  $y=z=t$ , (1.14) and (1.16) yield the following interesting identities:

$$\sum_{j=0}^k \binom{k}{j} (-1)^j (2t-1)^{k-j} \frac{B_{k+j+1}(t)}{k+j+1} = \frac{(2t-1)^{2k+1}}{2(2k+1) \binom{2k}{k}}, \tag{1.17}$$

$$\sum_{j=0}^k \binom{k+1}{j} (k+j+1) (1-2t)^{k-j+1} B_{k+j}(t) = -2(k+1) B_{2k+1}(t). \tag{1.18}$$

They remain valid if the Bernoulli polynomials are replaced by corresponding Euler polynomials.

In the next section we will give more applications of Theorem 1.1. Section 3 will be devoted to a proof of Theorem 1.1.

## 2. MORE APPLICATIONS OF THEOREM 1.1

**Theorem 2.1.** Let  $\{a_n\}_{n \in \mathbb{N}}$  be a sequence of complex numbers, and let  $k, l \in \mathbb{N}$ .

Then we have

$$\sum_{j=0}^k \binom{k}{j} (-1)^j \frac{a_{l+j+1}}{l+j+1} + \sum_{j=0}^l \binom{l}{j} (-1)^j \frac{a_{k+j+1}^*}{k+j+1} = \frac{a_0}{(k+l+1) \binom{k+l}{k}}. \quad (2.1)$$

Also,

$$\sum_{j=0}^k \binom{k}{j} (-1)^j a_{l+j} = \sum_{j=0}^l \binom{l}{j} (-1)^j a_{k+j}^* \quad (2.2)$$

and

$$\begin{aligned} \sum_{j=0}^k \binom{k+1}{j} (-1)^j (l+j+1) a_{l+j} + \sum_{j=0}^l \binom{l+1}{j} (-1)^j (k+j+1) a_{k+j}^* \\ = (k+l+2) \left( (-1)^k a_{k+l+1} + (-1)^l a_{k+l+1}^* \right). \end{aligned} \quad (2.3)$$

*Proof.* (2.1)–(2.3) follow from (1.4)–(1.6) in the case  $x = 1$  and  $y = z = 0$ .  $\square$

*Example 2.1.* Let  $k, l, m \in \mathbb{N}$ . The Stirling numbers  $S(m, n)$  ( $n \in \mathbb{N}$ ) of the second kind are given by  $x^m = \sum_{n=0}^{\infty} S(m, n) (x)_n$ , where  $(x)_0 = 1$  and  $(x)_n = x(x-1)\cdots(x-n+1)$  for  $n = 1, 2, \dots$ . Observe that

$$\sum_{i=0}^n \binom{n}{i} (-1)^i ((-1)^i i! S(m, i)) = \sum_{i=0}^{\infty} S(m, i) (n)_i = n^m \quad \text{for } n \in \mathbb{N}.$$

Applying (2.2) we obtain the identity

$$\sum_{j=0}^k \binom{k}{j} (l+j)! S(m, l+j) = \sum_{j=0}^l \binom{l}{j} (-1)^{l-j} (k+j)^m. \quad (2.4)$$

*Example 2.2.* For  $n = 1, 2, 3, \dots$  the  $n$ th Bell number  $b_n$  expresses the number of partitions of a set of cardinality  $n$ , in addition  $b_0 = 1$ . It is well known that

$$\sum_{i=0}^n \binom{n}{i} (-1)^i ((-1)^i b_i) = b_{n+1} \quad \text{for } n \in \mathbb{N}.$$

(See, e.g. [GKP, p.359].) Applying Theorem 2.1 to the sequence  $\{(-1)^n b_n\}_{n \in \mathbb{N}}$  we obtain the following three identities for  $k, l \in \mathbb{N}$ .

$$\sum_{j=0}^l \binom{l}{j} (-1)^j \frac{b_{k+j+2}}{k+j+1} - (-1)^l \sum_{j=0}^k \binom{k}{j} \frac{b_{l+j+1}}{l+j+1} = \frac{1}{(k+l+1) \binom{k+l}{k}}, \quad (2.5)$$

$$\sum_{j=0}^k \binom{k}{j} b_{l+j} = \sum_{j=0}^l \binom{l}{j} (-1)^{l-j} b_{k+j+1}, \quad (2.6)$$

$$\begin{aligned} \sum_{j=0}^k \binom{k+1}{j} (l+j+1) b_{l+j} + \sum_{j=0}^l \binom{l+1}{j} (-1)^{l-j} (k+j+1) b_{k+j+1} \\ = (k+l+2) (b_{k+l+2} - b_{k+l+1}). \end{aligned} \quad (2.7)$$

**Theorem 2.2.** *Let  $k, l, m \in \mathbb{N}$ . Then we have*

$$\begin{aligned} & \sum_{j=0}^k \binom{k}{j} \frac{(-1)^j}{l+j+1} \binom{x+l+j+1}{m} \\ &= (-1)^k \sum_{k < j \leq m} \frac{1}{j} \binom{l}{j-k-1} \binom{x}{m-j} + \frac{\binom{x}{m}}{(k+l+1) \binom{k+l}{k}}. \end{aligned} \quad (2.8)$$

Also,

$$\sum_{j=0}^k \binom{k}{j} (-1)^j \frac{\binom{y}{l+j+1}}{\binom{x-1}{l+j}} + \sum_{j=0}^l \binom{l}{j} (-1)^j \frac{\binom{x-y}{k+j+1}}{\binom{x-1}{k+j}} = \frac{x}{(k+l+1) \binom{k+l}{k}} \quad (2.9)$$

and

$$\sum_{j=0}^k \binom{k}{j} (-1)^j \frac{\binom{y}{l+j}}{\binom{x}{l+j}} = \sum_{j=0}^l \binom{l}{j} (-1)^j \frac{\binom{x-y}{k+j}}{\binom{x}{k+j}}. \quad (2.10)$$

*Proof.* Let  $a_n = \binom{x+n}{m}$  for  $n \in \mathbb{N}$ . By identity (3.47) of H. W. Gould [G] or (5.24) of [GKP], we have

$$a_n^* = \sum_{i=0}^n \binom{n}{i} (-1)^i \binom{x+i}{m} = \begin{cases} (-1)^n \binom{x}{m-n} & \text{if } m \geq n, \\ 0 & \text{otherwise.} \end{cases}$$

Applying (2.1) we obtain (2.8).

Let  $c_n = \binom{y}{n} / \binom{x}{n}$  for  $n \in \mathbb{N}$ . Then  $c_n^* = \binom{x-y}{n} / \binom{x}{n}$  by (7.1) of [G], in fact

$$\begin{aligned} \binom{x}{n} c_n^* &= \sum_{i=0}^n \binom{x-i}{n-i} (-1)^i \binom{y}{i} = (-1)^n \sum_{i=0}^n \binom{n-1-x}{n-i} \binom{y}{i} \\ &= (-1)^n \binom{n-1-x+y}{n} = \binom{x-y}{n}. \end{aligned}$$

Note that  $(n+1) \binom{x}{n+1} = x \binom{x-1}{n}$  for any  $n \in \mathbb{N}$ . So (2.9) and (2.10) follow from the first two identities in Theorem 2.1.  $\square$

### 3. PROOF OF THEOREM 1.1

**Lemma 3.1.** *Let  $i, k, l \in \mathbb{N}$ . Then*

$$\sum_{j=0}^l \binom{l}{j} \binom{k+j}{i} (-1)^{l-j} (1+t)^{k+j-i} = \sum_{j=0}^k \binom{k}{j} \binom{l+j}{i} t^{l+j-i}. \quad (3.1)$$

*Proof.* Clearly

$$\begin{aligned}
& \sum_{j=0}^k \binom{k}{j} \binom{l+j}{i} t^{l+j-i} - \sum_{j=0}^l \binom{l}{j} \binom{k+j}{i} (-1)^{l-j} (1+t)^{k+j-i} \\
&= \sum_{j=0}^k \binom{k}{j} \frac{(t^{l+j})^{(i)}}{i!} - \sum_{j=0}^l \binom{l}{j} (-1)^{l-j} \frac{((1+t)^{k+j})^{(i)}}{i!} \\
&= \frac{1}{i!} \cdot \frac{d^i}{dt^i} \left( \sum_{j=0}^k \binom{k}{j} t^{l+j} - \sum_{j=0}^l \binom{l}{j} (-1)^{l-j} (1+t)^{k+j} \right) \\
&= \frac{1}{i!} \cdot \frac{d^i}{dt^i} (t^l (1+t)^k - (1+t)^k (1+t-1)^l) = 0.
\end{aligned}$$

This proves (3.1).  $\square$

*Proof of Theorem 1.1.* Observe that

$$\begin{aligned}
& (-1)^k \sum_{j=0}^k \binom{k}{j} x^{k-j} \frac{A_{l+j+1}(y)}{l+j+1} + (-1)^l \sum_{j=0}^l \binom{l}{j} x^{l-j} \frac{A_{k+j+1}^*(z)}{k+j+1} \\
&= (-1)^k \sum_{j=0}^k \binom{k}{j} \frac{x^{k-j}}{l+j+1} \left( a_0 y^{l+j+1} + \sum_{i=0}^{l+j} \binom{l+j+1}{i+1} (-1)^{i+1} a_{i+1} y^{l+j+1-(i+1)} \right) \\
&\quad + (-1)^l \sum_{j=0}^l \binom{l}{j} \frac{x^{l-j}}{k+j+1} \sum_{r=0}^{k+j+1} \binom{k+j+1}{r} (-1)^r a_r^* z^{k+j+1-r} \\
&= c a_0 + \sum_{i=0}^{k+l} c_i (-1)^{i+1} \frac{a_{i+1}}{i+1}
\end{aligned}$$

where

$$\begin{aligned}
c &= (-1)^k \sum_{j=0}^k \binom{k}{j} x^{k-j} \frac{y^{l+j+1}}{l+j+1} \\
&\quad + (-1)^l \sum_{j=0}^l \binom{l}{j} \frac{x^{l-j}}{k+j+1} \sum_{r=0}^{k+j+1} \binom{k+j+1}{r} (-1)^r z^{k+j+1-r}
\end{aligned}$$



and

$$\begin{aligned}
 & c_i - (-1)^k \sum_{j=0}^k \binom{k}{j} x^{k-j} \binom{l+j}{i} y^{l+j-i} \\
 &= (-1)^l \sum_{j=0}^l \binom{l}{j} \frac{x^{l-j}}{k+j+1} \sum_{i < r \leq k+j+1} \binom{k+j+1}{r} (-1)^r \binom{r}{i+1} (i+1) z^{k+j+1-r} \\
 &= (-1)^l \sum_{j=0}^l \binom{l}{j} x^{l-j} \binom{k+j}{i} (-1)^{k+j+1} \sum_{i < r \leq k+j+1} \binom{k+j-i}{r-1-i} (-z)^{k+j-i-(r-1-i)} \\
 &= (-1)^{k-1} \sum_{j=0}^l \binom{l}{j} \binom{k+j}{i} (-x)^{l-j} (1-z)^{k+j-i}.
 \end{aligned}$$

Obviously  $c_i = 0$  when  $x = 0$ . If  $x \neq 0$ , then

$$\frac{(-1)^k c_i}{x^{k+l-i}} = \sum_{j=0}^k \binom{k}{j} \binom{l+j}{i} \left(\frac{y}{x}\right)^{l+j-i} - \sum_{j=0}^l \binom{l}{j} \binom{k+j}{i} (-1)^{l-j} \left(1 + \frac{y}{x}\right)^{k+j-i} = 0$$

by Lemma 3.1.

Let us now calculate the value of  $c$ . Clearly

$$\begin{aligned}
 (-1)^k c &= \sum_{j=0}^k \binom{k}{j} x^{k-j} \frac{y^{l+j+1}}{l+j+1} + (-1)^{k+l} \sum_{j=0}^l \binom{l}{j} x^{l-j} \frac{(-1)^{k+j+1}}{k+j+1} (1-z)^{k+j+1} \\
 &= \sum_{j=0}^k \binom{k}{j} x^{k-j} \int_0^y t^{l+j} dt - \sum_{j=0}^l \binom{l}{j} (-x)^{l-j} \int_0^{x+y} t^{k+j} dt \\
 &= \int_0^y \sum_{j=0}^k \binom{k}{j} x^{k-j} t^{l+j} dt - \int_0^{x+y} \sum_{j=0}^l \binom{l}{j} (-x)^{l-j} t^{k+j} dt \\
 &= \int_0^y t^l (x+t)^k dt - \int_0^{x+y} t^k (t-x)^l dt \\
 &= \int_x^{x+y} s^k (s-x)^l ds - \int_0^{x+y} t^k (t-x)^l dt = - \int_0^x s^k (s-x)^l ds \\
 &= - \int_0^1 (tx)^k (tx-x)^l x dt = (-1)^{l+1} x^{k+l+1} B(k+1, l+1),
 \end{aligned}$$

where  $B(k+1, l+1) := \int_0^1 t^k (1-t)^l dt$  is known to be

$$\frac{\Gamma(k+1)\Gamma(l+1)}{\Gamma(k+l+2)} = \frac{k!l!}{(k+l+1)!} = \frac{1}{(k+l+1) \binom{k+l}{k}}.$$

So we have  $c = (-x)^{k+l+1}/((k+l+1)\binom{k+l}{k})$ .

In view of the above, (1.4) holds.

If we replace  $z$  in (1.4) by  $1 - x - y$  and take partial derivation with respect to  $y$ , then we obtain (1.5) from (1.4). Substituting  $k + 1$  and  $l + 1$  for  $k$  and  $l$  in (1.5) and taking derivation with respect to  $y$ , we then get (1.6).

The proof of Theorem 1.1 is now complete.  $\square$

### Acknowledgements

The research was supported by the Teaching and Research Award Program for Outstanding Young Teachers in Higher Education Institutions of MOE, and the National Natural Science Foundation of P. R. China.

### REFERENCES

- [G] H. W. Gould, *Combinatorial Identities. A standardized set of tables listing 500 binomial coefficient summations*, Morgantown, W. Va., 1972.
- [GKP] R. L. Graham, D. E. Knuth and O. Patashnik, *Concrete Mathematics*, Addison-Wesley, New York, 1989.
- [K] M. Kaneko, *A recurrence formula for the Bernoulli numbers*, Proc. Japan Acad. Ser. A. Math. Sci. **71** (1995), 192-193.
- [M] H. Momiyama, *A new recurrence formula for Bernoulli numbers*, Fibonacci Quart. **39** (2001), 285-288.
- [S] Z. H. Sun, *Invariant sequences under binomial transformation*, Fibonacci Quart. **39** (2001), 324-333.
- [Su] Z. W. Sun, *General congruences for Bernoulli polynomials*, Discrete Math. **262** (2003), 253-276.
- [WSP] K. J. Wu, Z. W. Sun and H. Pan, *Some identities for Bernoulli and Euler polynomials*, Fibonacci Quart., in press.